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Use additional reading time to go through the question paper, select the questions and decide
on the questions that you give priority in answering.
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f wicSe goldlopssun/ Note :
(i) Bug @ gdndcd BEnoy suusym,
616060T sl NGB EEHH@HID ailen. HHs.
Answer all questions.
(i) 1-40 emzs wdmdE (1),(2),(3), @) Béﬂgdtaém BOOE 6wl OIS ogeunm e BEnS exnid wsis.
1 Qe ssid 40 asapusien gailaun aflsralayb (1).(2).(3),(4) oo aeRsfiUULL allent soflsd Fflwiren
Sievsug sl QUIGSSLrer eilonl el Qeflatris.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3). (4) which you consider
is correct or most appropriate.
(iil) @30 wuew BEyo vged O O gdvr Bewr & ¢(f BB ernedy B8 emid Vs BEned gumwed wuees
wos ne (X) cas ewigsis.
2 106G eupBISUULBsTen elleLsaneilsd gaulaurm ellamased o fiu alLmselsd 2w
alenLulsl @evsssms @Hs el LsHamienGsn ysiengenw (X) DEs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.
(iv) &® 88nd; vyed Bgow § o gend coecd ¢ icBdecss Buls, J) ¢ B8s8uin.
aflenL_hHeHrsilsl OmUSSHSE SITL 6o BBl SNTeRISHSHOSMELD Hauanors aundlhsl Spubmmpll
Ui mIs.
Further instructions are given on the back of the answer sheet. Follow them carefully. J

1. can g g @b o egm gty 088 Bdesdods diensy 0885 5925 ¢2
Weltaumeusneummieht SINULGeTen L] @bl Quirkdsione en HECaiss] ag?
Which of the following is the correct time signature for the given bar?

) @ 3 ©OH @ 5%

2. com Sedn wedn Al S 088 80esiDdud gnd iyl D80 edes ecwd & 18 D8y RPE ¢?
Ueume Geng uny Boen e HAECssmpobd gbU  YIMIoTSGUSDGES Comeuwmea GmerdL
STUUL [Bertemsubmien sig?

Which of the following rests would suit to complete the given bar according to the time signature?

7y @ 79 @ 7979 @ 7 B
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3. E g8 2gided B8ded¢ ¢90d 30 ©v&Hm emwdes ¢7
SIULL Beiten  GleHiLSH0 @avs Beveorgl o oiten GCpTEL Ubss ciHHomen?
In the given illustration how many crotchet beats are silent?

o)
Sy
[ i
1 5 (2) 5% 3) 6 (4) 6%

4. 2R S08s 803 C omd 005! 5 8 v€s B 0 @ ¢?
sou Geleneuhimisit 101gsd C i@ 5 Cyneiisen Sipons 2_slien abdauyd 61gi?
Which of the following notes is five tones below Middle C7

o T o P o P o P

5. & B 390w0 @8l T8 eveg 8006 tvn e SDBs RO ¢?
Weraumeusteubmistt SyuL Geitan ebougsgis@ Gy 7 Guweren sbaugb 6 ?
Which note of the following would form a Major 7™ above the given note?

=

thex ,
TE=—— == — W0 —

6. @G e 8 Hedded vrg veedB ecdl Bmed €Odn dries’ v B3 @23 ¢?
deumsuseubmiet SeoGym denclt Qeir adBreit BHed S6lp WpHeomb Geogg) eevalen ebITOTGIZI a151?
Which of the following is the letter name of the note on the first Leger line below the stave of
the Alto clef?

(1 A 2) C 3) D 4) B

7. 8 e Secd godsl von €80de Ei’ B® wem enle glen @ ¢?
SUUL. Beften HCensusenet Weeumpd evaugd B giausnell tusiuGss Comiguis g’
Which of the following clefs should be used to make the given note Eb?
beo-

1 =¥ @) e——x 3 E ) E

8. 95000 O ne B eOis v ems®en ¢f
@&CGye gamiauet adbsamer Curaisst 2 sfene?
How many tones are there within any octave?
(1 3 @ 4 3 5 4 6

9. @ B Blesldin 68 deE gocs dned e®lsl @ ¢?
Ueraumauaiaubust 958 & HeGmssords Qomemi. eBssvssiar Gamg egi?
Which of the following pairs of scales would have the same Key signature?

(1) Bb major/Eb minor (2) F minor/Ab major
(3) C# minor/D major (4) E major/C minor
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10. 2 (B 50,85 98mb Judum eiS esfobans diess RPES ¢7
Ueieupeusnsuimel emweny Lywbpien (pHeombd BeiGaufss cigH?
Which of the following is the 1% inversion of a minor triad?

i O
w T o P o Bt © 5]
11. 2 g8 8083 8303 wwsd ©érn dEles R ¢?

Uaraumeuarauppiels  Heonesd SIMessmd @H5s 61517
Which of the following is similar to Bilawal Raga?

) ; -
(1) & e (D). RN Sy 3 A
N an > Y | el r.d (%) 2y 1]
—t.év (. . if S = L U ——
5 - )
:9_% [ ] — H o c— i
Q) == i 4 =L S - o i
il U e > e

12. 8 g8 I gneds’ con enido 6dv PR Bewcs RIS ¢7
Ueraumeuetaubmistt SFOULBelen Gan’ 2 Lal G@TLjymLw adBsed 617
Which of the following scales is associated with the given chord?

o= =

(1) A major (2) D minor (3) F major (4) A minor

13. oom 80 gudst @ @B guds Bednd B0y cAsles’ R@8ss ¢?
Uestaurpeuaraubmisit SIUULGeren Lywh Geven eleufiiug 657
Which of the following would describe the given triad?

(1) Ib (3) Vb 4) IvVc

14. € B S0 gobss RI® evdes wwn BOe®SS, Digms WOy A BOCWS 2560 b e¢m Cred ¢?
Weaueuatoupmien  ehHl  GuLedmar  DjSSILBLNE, BMEssluBD evafh CHTLIbS! 605515

Q&sTerngmaEb?
Which of the following pedals, when depressed would sustain the notes played?
(1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

15. 2 18 edus Bednd moy casles’ 83 @SS ¢?
esreumeusieupmist  sylut. Geier CaLdiod Senen alleufliug gi?
Which of the following describes the given cadence?

) }
e PO
WA Ba
Q) | [& ]
'E‘" [ ] L&)
Z. s —
(1) TImperfect cadence in C minor (2) Plagal cadence in Bb major
(3) Perfect cadence in Eb major (4) Amen cadence in G minor

16. ‘Buoces mBa B griesd R®D e0i® dezs ¢?
‘anflugiogerod’ aip uEED abs angelsd (form @) sl Beleng:?
In which given form is ‘Humoresque™ written?
(1) Ternary Form (2) Variation Form
(3) Rondo Form (4) Binary Form

\ o
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17. 2 (B gCm0Hs v ecsien’ von RO 983 ¢? _
Uisteuneusiauimien Sy Geten @femliosi Benet afleufliiLigl 11?7 3

Which of the following describes the given ornament? (Y
(1) Mordent (2) Acciaccatura
(3) Inverted turn (4) Arpeggio

18. € 1B 800823 R0» enduinn e01Ss 80 etr@m»si0 ewids B8 wosiess ¢?
Ueiaumeuesteummisit Gpmefs Qam ssib Qumbean Caml Sment uwauBsHS o (meuran Goleiend 61gi?
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence (2) Perfect cadence
(3) Plagal cadence (4) TImperfect cadence

19. 000 eudst Bos [ 08z Boweis dsfes @ ¢?
T ssisE Guwars o Leed [ sieugeaITed GELILUUGauG ereTen?

What is indicated by a dot above a note f ?
(1) Play the note with an accent (2) Play the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20. 2 g8 S0 o085 o» Shws guies R@m Digs ©IeBiEd ¢?
Ueitupeuameupmiet Heaill fi. Benens QEneami. Bamshameal 65?7
Which of the following is a single reed instrument?
(1) Trumpet (2) Clarinet (3) Oboe (4) Bassoon

21. Doy WO 00D Ot Bbenid oI BwES VO 06D Mg WITDES Diess O €7
BmesaluBD abarsmsd el mbsl CuItus. Sprs 6l splLb Bmassmel s5l?
Which instrument sounds a perfect 5th lower than the played note?

(1) Piccolo (2) Cor Anglais (3) Trumpet in Bb (4) Clarinet in A

22, oom S gols’ ehs’ eedn mwmas d55es RO ¢?
arsueuetsuppsit L Cyrsir Bensdsmal a15)?
Which of the following is the drone instrument?
(1) Oboe (2) Mandoline (3) Tampura (4) Sitar

23. E &8 ©8» aeitds Bl’ 980 Yens! Sxcme O 80 grensies RO D0Hmers Bedn GIDICHEO ¢7?

sroul@siten - Beostt  Quwity B Lppun B SoassluiCursl  seumeusteubpisi  e1ged
GO lu Geteneunm Calssamiouisns B(mosEin?
Which of these would be heard when the given musical extract is played on a Trumpet in B ?

g 3 ¢
AT T o S L) BT 7R S S N

'_'«'l"‘..: o JI ] 1}
O o ) L Pre £ o
(1) = " v f 2) . i
A  — B 1
3) &= . 4)
24, T B S00c Diemas m0m quenda quiSedsies’ R8s ¢? £
SIUULBelten edauTHMS Bmssed g Gaubiled ey efleufldsiiul Gsieng?

Which illustrates the way the given note is played?

o JTTI o JI ® o da @ Joos

J
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25. oop qedn ROD gIve BOOE @ ¢?
esteugneusnaummien siflwimen &pml 61817
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section
(2) The Piccolo sounds an 8" higher than written.
(3) The Conductor tunes the orchestra.
(4) The Saxophone is an important instrument of the orchestra.

26. 2 B Dsed ogesm BNGE 8Eos g 853 p@s ddemum ¢?
S Belten andALUSSIBEGH Qurpdsore afiure sheb Sabpe aHd o aeng?
Which of the following would be the correct thythm to match the given sentence?
“Yankee doodle came to town, riding on a pony.”

o 344414 r0d IRV
o §4 JTI1 QL 2T DL

@ 3495930\ JIT

w 34 TS 11,01 TTT)

27. ledd &n ©dn» wosies’ 85 pom ¢?
Uereugneuemsuimien 6rdled LighCam LWSUGSSULGD?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. ‘@380 0wi5000’ $ON BE BBrTWeS OB B Drles’ vwn RV §?
Uesiaumeuenauppien ‘apatesouln Qeremppt Somer Bupilu Bevs SGEGHART WHHGWIG BFUTSSD

a1g1?

Which of the following is another composition by the composer of ‘Moonlight Sonata’?
(1) Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. '‘Bogo 953 ¢ o8 88D Bow grres ByBnE v dfes’ 853 RO ¢?
Aeireumeusauppiet ‘Amdn @& & Gyuiar eeip Lgusbwll Ut ed SLkidw 1Budsed eH?
Which of the following musicals has the popular song ‘Singin' in the Rain’?
(1) Mary Poppins .~ (2) Wizard of Oz (3) LionKing (4) Sound of Music

30. ‘BoOsteth’ wn eici®@0 Bodd glde e¢sies’ RO B¢ ¢?
LI AGLT elaiuBe a8jbsmEMBS S Camed g7
Which term gives the opposite meaning of ‘Ritardando’?
(1) Crescendo (2) Larghetto (3) Vivace (4) Accelerando

31. 2 B 0853 'odd® toBnw’ m w8RBVMOWS emeEdses O ¢?
Nereumeusaumme ‘UGimeégmd Byds o Lar Oarjiebens Bms oibsid 61gi?
Which of the following compositions is net associated with ‘Programme music'?

(1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32. ‘Hocuw® 8 g¥ By wBoww vun e¢wsl ¢eees’ BRSNS ¢?
HesumGaunfled ‘@enwiy 19 eurelt’ Bei1 Beng gub@en) waj?
Which of the following is the composer of ‘Clair de Lune’?
(1) Liszt (2) Debussy (3) Gershwin (4) Schumann

[ 6 &5 80P Reaw. / us. 6 g urjés / See page 6
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33. 9008 Bows des’ 83 @S ¢?
Ueiameusaubmisii BILSD LTLeL 61317
Which is a song from a Nadagam?
(1) Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

34. noo DB»ed®sI Budnd woy cRles’ 80 wislduned @88 guwda ¢?
Uarsuihsusmaubmist 6hs W(hSHHar BLEGID G HIFmsT b alaufissiniBang?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant (4) Snake

35. RenddE miBed ds3es’ 81 B ¢?
eieu(neusmsubmsii @OBEDLTD SbHD 61517
Which is an orchestral composition?
(1) Liebestraum (2) Gollywog’s cake walk
(3) Lohengrin (4) Bolero

36. E B wBogwes’ golsl ied eBms ©wds wAg emcHdsed mOeCS ¢?
Ueiteupd Geng S &@&HISsNn ran Benaujtar Osmjiilsbeongeuy wiry?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong (2) Prokofiev
(3) Scott Joplin (4) Duke Ellington

37. con gedsn O BICE gmanws @ ¢?
Liedteu(meuatoummst Lilempwimer Fmm 6157
Which of the following is a false statement?
(1) MIDI is a standard way of connecting one keyboard with another.
(2) Synthesizers can record, edit replay music.
(3) DIJs use a mixing desk to combine different tracks.
(4) Sampler is a piece of equipment that can record, process and playback bits of sound

38. @FOBrun I@ress’ B Bus BedGB fedsies vum & i R DoHewss ¢7?
Ueirsumeuetsuppiet et Teliar geiisd Guiglaumsl UWEUBSSILEGED BIbUSle embamismasamils
GEUIGuG a7
Which of the following states the number of strings commonly used in a mandolin?

(1) Four double metal strings (2) Five single strings
(3) Six single strings (4) Eight double metal strings

39. Bwexid s@ems 98 ©om i Obon o ¢?
Ueteupeuaraubpiel 1Mr@ant wISHTD LUWSILBSHSULGBD Bme SibstD 6pi?
Which composition uses only the Piano?
(1) Blues (2) Swing (3) Ragtime (4) Be Bop

40. 2 g8 880853 20 80 00 o’ emddes 853 OIS ¢7?
Ussreuapeusisummel Lybdn BNe e flsseenssl sigl?
Which of the following does not belong to a Drum kit?
(1) Floor Tom (2) Ride Cymbal (3) Tom tom (4) Conga drum

Al a4,
E
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